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I Forms of ovp and n1an
a  If ahusband states “all vows that you take I can’t stand” or “this isn’t a vow” — this is not n7an
b  However, if he states “well done”, “there are none like you” or “had you not taken the 911 I would have
administered it myself” — this is Dvp
¢ DT n19n on Naw — shouldn’t use usual formula, but just tell her to eat or take the otherwise banned food
i v 7 he must also “declare” proper man in his mind
ii ~ related xn»a:
1 w"a: even if he states “eat this” etc., he must still declare proper nman during the week
2 n"a:even on a weekday, he may think that formula without stating it
d nnv "2 husband and nan have distinct formulae; each of which may not be used for the other
i support: mn»a which utilize 9210 nr (v. 1) against potential vp reasoning which would expand means
II  Analysis: "1 between1aTn nrinv. 1 and v. 2
a  What we know about v1: monn »orI
b What we know about v2: YR7w 931 V121 1INR
¢ Crossapplication: 3 mv11h may be used for 0111 NINN; V1PN is retractable via nYRY
i Note: v"a doesn’t allow for wTpna nYRW — they don’t accept the w1
1 Question: if so, how do they infer the allowance for mvyTn x for o771 nINN?
2 Answer: 1M 720X "7's adjustment of the Xn»ainre: v. 4:
(@) "n 1 doesn’t include naw nor oM NINN
(i) challenge: (v. 3) — naw is included on the list; (v. 1) 0»111 are juxtaposed to mT»n (V3-N3 727TNI)
(if) answer: exclusion — that only myn require 771 —01T may be released by moyTn
1. note: monn *wr1 implies that if done by an individual, must be nnmin
III Interpreting silence
a  If he remains silent to harass her (but internally rejected the vow), he may reject even after the day
i Challenge: Rnovn (studied at beginning of ch.) — if husband is silent and dies the next day, domain
doesn’t transfer to father — doesn’t this even include silence with tacit rejection?
1 Answer: refers to unspecified silence (if it was silence with intent of 0yp, that’s already mentioned)
ii ~ Challenge: np>nw has the power of nvp
1  Answer: referent is unspecified silence (as per above)
(a) Note: ka1 referenced the above as a strength of npn over 79n; 190’s advantage is that it can’t
be retracted, whereas nnpn may be retracted
iii ~ Successful Challenge #1: v. 5 implies, by virtue of its redundancy, even silence with intent to harass —
1 Note: cannot be explained as referring to unspecified silence, due to extra phrase
iv  Successful challenge #2: our mwn stipulates that if he hears just before dark, he can no longer reject it
1 Proof: we don’t allow for silence to be interpreted as v’n5 nan %y and extend the time
v Successful challenge #3: 1:80 Mwn (above)
1 Proof: we don’t allow his silence to be interpreted as to allow for n1an afterwards
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